e [ Code No. 9014]

Time : 2 Hours

[ Second Year — March 2018 }

Part — II
COMPUTER INFORMATION TECHNOLOGY

Maximum : 60 Scores

Cool-off time : 15 Minutes

/General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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(Questions 1 to 5) : Answer all questions. Each carries one Score. (Scores :5x1=5)

memory is placed between CPU and RAM.
SMPS stands for
Double data type takes bytes.
Wrapping of data and functions into a single unit is called

is a member function that is automatically executed when an object is

created.

(Questions 6 to 18) : Answer any Eleven questions. Each carries two Scores.

(Scores : 11 x 2 =22)

Categories the following devices into input and output devices :

(a) OMR (b) Plotter (c) Track ball (d) Mouse

Which type of RAM requires periodic refreshment ? Give reason.

“Word length and clock speed determines the efficiency of a processor.” Explain the

terms word length and clock speed.

(a) What are Registers ? (Score : 1)
(b) Name the following registers :
(1)  That keep track of the address of instruction to be executed next.  (Score : 2)

(1))  That hold an instruction until it is decoded. (Score : 12)

Find out the opcode and operand of the following :
(a) MOVEA,B (b) ADDA,B
(c) LDA 2400 (d) CLRRI
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(1 2)®@8 5 2190 af)LId Ga1dBEBURBAN)0 DOMAHAYI®)db. BFOGOI GaldBOMIM)o
830} ¢apod ail@o.) (capodav’: 5x 1=5)

eamdl@oem CPU-mjo RAM-M)o 2GRLY 9alc@ouflaa)am@.

SMPS-603 a1)@emo)alo @IRY6T.

Double avoq 68Sal ¢quod ea1gpma@ilay OOMIYDHUB Dalcouilasam;.
WOQ®)o aNoWlaHM)o BOYAla] Ca BB B0} WENIY BRYBNINGIOM af)am)
alo@)M).

830} 3oNiR WBAIHN)EMIOUD af)Pld )G 21QHAD HAMIB aNoWeH _ @R)6D.

6 )@@ 18 160 a@o@m®slele 11 Gald3IEBWIGN) e DAMONAY)M)D. 630GOI
Gal0BAMIM)e 2 ¢apod allmo.) (capodav’: 11 x 2=22)
®IOY 2l0WAINAI NMBaNG DaldAMENBUB BVZal)g DaldOMEBUD af)aVIEBBOM @00
@309

(a) OMR (b) Plotter (c) Track ball (d) Mouse
a3®) allwomlenss RAM @rem s@iles olnaH 62 16QeE® ? 3O06Mo af) $)®)d .

“ealw’ eeIm®m)o coBs Mlable 80} Cldquaudlend alaallem mluaiciasan,).”

COIW BLIBD), EHIH Mlab af)alal af)damaN) Al VdBA0HE) .

(a) @HAUA af)aMI@B af)(® ? (capod : 1)
(b) @690 ELAAVA CBOGAN AIOW)H,
() @RS)O® a@PIDHYS OalcYme  HAWBAVSDHHONG  GRALIY  BO®AN
av)afla floo)MN@. (capod : 12)

(i) AUle®HoW’ alPIN@QINO B0) EHABAV(SHaHB TVIGHMIHO)M®. (GAPIA : V2)

$30aiEHIW)o 6302|0000 ®06¥ @ANIBlENMAITIGE MIaN)o HEOEEBTID :
(@) MOVEA,B (b) ADDA,B
(c) LDA 2400 (d) CLRRI
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Consider the following code :

fori=1;i<=15;i++)
{
if (1% 2 ==0)
continue;
cout <<i<< ‘“\n”;
}

(a) Write the output.

(b) Explain the purpose of break and continue.

(a) What is meant by polymorphism ?

(b) How polymorphism implemented in C++ ?

Consider the following :

(1) class student : public mark

(i) class alpha : public beta, public gamma

(a) Which feature of OOP is mentioned above ?
(b) Point out the difference between these two.

(a) What is destructor ?

(b) “Destructors cannot be over loaded.” Do you agree ? Justify your answer.

Explain any two visibility modes.

i | A (i) |Al Bl

Cl

&

(a) Name the inheritance mentioned above.

(b) Identify the base classes of the two inheritance.
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@969 @ANIG1ENAN BHOW alBlWTIENG :

fori=1;1<=15;1++)
{
if (1%2 ==0)
continue;

cout <<i<< “\n”’;

b
(a) 8MZalg af)HINAN af) VI (capod : 1)
(b) break, continue ag)avl CTLOOABGHBIOS @RIV Yo AlUOElDEHe)B. (capod : 1)
(a) caloglemBallavo af)aMIM3 af)a® ? (capod : 1)
(b)  apEBOMWIEN Ealoglcaddarlave C++ @8 (a100IBTBH208mM@ 7 (6apId : 1)
®I6¥a|0WIMAl al@lneMIEe)D :

(1) class student : public mark
(i1) class alpha : public beta, public gamma

(@) OOP-6a af® TLONEUHGWOEM CAGEa|0MTIBISNINE ? (capod : 1)
(b)  @mMe WIGEOaUM)BHSB)o ®alENSS Q1Y OAVo af) TN TV)a fla {l89)d. (CapId : 1)
(a) Destructor a)ano@3 af)am ? (capod : 1)
(b) “WlERO)@OS  BOAIRERIOAW  EalQOd TLIWALL”  @IEMs mlenud

GO H9)AN)EENRI ? DTN TVARDLN LY. (capod : 1)
aRO®BIeno ome afllavlenileldl caoanyud afluodle@loe)m.
(1) A (i) |Al Bl

- ||
Cl
C
(@) MBE@3 V)aflaflaflgyss naBea0dIgMBaV @euB agal ? (capod : 1)
(b) 0D EENE MMBEOOIGIBAVIBHOSW)o EGENIAV GOAQVIBHUD HOROM)D.  (GAPIA : 1)
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(a) Explain functions seekg( ) and tellg( ). (Score : 1)

(b) What will be the actions of following statements ? (Score: 1)

(1) fl.seekg(0, ios : : end);

(1) fl.seekg(—1,i0s : : cur);

(a) What is a Relation ? (Score : 1)

(b) Define the terms tuple and attribute. (Score : 1)

(Questions 19 to 27) : Answer any seven questions. Each carries three Scores.

(Scores :7x3=21)

“Data stored in some memory is lost when the power is turned off.”
(@) Which memory is mentioned above ? (Score : 1)

(b) Explain different type of such memory. (Scores : 2)

“LCD display is suitable for Laptop Computer.”

(a) Write any two reasons for this. (Score : 1)

(b) Compare LCD and CRT monitors. (Scores : 2)

Explain the functions of control unit and ALU.

Write the technical specifications for the following :

(a) Processor (b) Hard disk (c) Monitor
(a) Explain relational operators. (Scores : 2)
(b) Arrange the following operators in the order of precedence : (Score : 1)
70,4+, 0=
6
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(a) seekg(), tellg( ) ag)am]l aDoaHM)BHUB QNUOBAHN)G:. (capod : 1)

(b) ®o9¢ ®aMIElHN)MM CAVGOAARBHBIOS (A IAIBRBTDMo af) YD) .

(1) fl.seekg(0, ios : : end);

(i1) fl.seekg(—1,ios : : cur); (capod : 1)
(a) dlerlaHad a)aMO@3 af)a® ? (capod : 1)
(b) tuple, attribute agyanlal ag)omman MIBQ 2 lE9)H:. (capod : 1)

19 2@ 27 100 aBO®BIENe T GaldBiEBURON) DOMOOAYI®)d:. 630G
Gal0BAMIM)e 3 ¢capod allmo.) (capodav’: 7 x 3 =21)
“alal@ 8000 ©alQEMIOGB afleimo HRAIBHSEG3 OBH WY Mayea|S)aM).”

(@) 2SO al0aIAlE)aN HREAA] ABD ? (capod : 1)
(b) oMo dRGIWeS ANlElMN @EEBUB ARO®I0HOHAN AflVdE]B:GlEO)B:.

(capodav’: 2)
“LCD alllaveg)d306m GaQoa| BMING0)H U3 GRMCQIRINIQ®.”
(@) DIMBS ONE BHOVEMEIBUB af) 9y (capod : 1)
(b) LCD, CRT ag)avl caom1Qo)u3 @2ail@3 @oomayo 6)a10Q))d. (capodav’: 2)

HMES0UB @emigload@io ALU oad@)o (a1018amMo ailuodle:@lae)d.

®IOY al0WIMNAIWNS AVLOCB:GB ANAIEMo af)P)ND ©

(a) Processor (b) Hard disk (c) Monitor

(@) dleelareM@s 630a|c0g0)dHUd QNlVOBAILN)D . (capodav’: 2)
(b) ®oeY ®AMIgI8s 6300|C0QO)BHOS BRAIINS MIBWEMMI(H: Ao GRMTVE 2]

(DA DHON BN :

20,40, 1= (eapod : 1)
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(a) What is a Constructor ? (Score : 1)

(b) Explain any two types of constructors. (Scores : 2)

The main program is given below :

void main( )
{
cout << volume (12, 50, 25);
cout << volume (55, 30);
}

Write function definitions for the two functions; one is to find the volume of

rectangular box and the other to find the volume of cylinder.

[Hint : Volume of cylinder = nr*h

Volume of rectangle box =/ x b x h]

What are the differences between public inheritance and protected inheritance ?

(a) Whatisa DBMS ? (Score: 1)

(b) Write any four advantages of DBMS. (Scores : 2)

(Questions 28 to 32) : Answer any three. Each carries 4 Scores. (Scores :3x4=12)

(a) “Now-a-days USB flash drives become more common than optical disk.” Write

any three advantages of USB drive over optical disk. (Scores : 2)

(b) Name two input devices that use character recognition technology. (Scores : 2)
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(a)  DHEMBARRPA af)AMO@ ag)(®) ? (capod : 1)
(b)  aBO®BILN CTEIDOATILNTS HEMATRRHO)HOBHMNTa] aflaidlond. (capoday’: 2)

@06)¢% 630) main program @aNialeeam) :

void main( )

{

cout << volume (12, 50, 25);

cout << volume (55, 30);

}

DT al0aTIRlENAN QM aNoWaHMGHBIOSWo  WaDMIaHM  af) Q1@ ;

836050 aI®OTVoCAIOM Q0o HIEMAIOM]0, 260N aVleilenedlang alydglo

B06MAIIMYo GAIMEIBB®6.

[Hint : Volume of cylinder = nr*h

Volume of rectangle box =/ x b x h]

alRfldy DBH0GIGABAV0 (R 105HAW EHMBE00IQIBIVLIe KNS QIY® PAVEBUY
a)Oa®»LI00 ?

(a) DBMS af)amo@3 agf)am ? (capod : 1)
(b) DBMS-003 apo@rlene 4 10)IMEBUd af)9)®)d. (capodav’: 2)

28 2@ 32 AOd aBO®BIEIe 3 GalIBIEBUIBN) e DAMOAY}M)d. 630G

Gal0B3OIM)e 4 ¢aPoAd all@o.) (capodav’: 3 x 4 =12)

(@) “0u90e1em USB 0fdatine@ond:u8 Baiglee@d wlam»es @Gocaldla]

D)S)DT RalcoUla)) A10)I).” USB 06/(Wwand3d8 63aigleedd aslap:es

@RCaldM] 2] DBB VIFTMNMEBUD BO@LJ0 ? (capodav’: 2)

(b)  ®00HA 0VUTIlaH 1B HSCHOIBE DalCWIUIIBN)AN N EHMBa )5 DaldhO6T-
OBBIOS Gl af)9I®)d. (capodav’: 2)
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29. (a) Write the characteristics of ROM. (Scores :

(b) Explain different types of ROM. (Scores :

30. A class named item has the following details :

Data members :
Item no, qty, price
functions :
read data() to read data members

print() to calculate amount and print bill.

[Hint : Amount=qty*price]

2)

2)

(a) Define the class item. (Scores : 3)
(b) Write a main program to input item details and to print bill using the above class.
(Score : 1)
31. Write a program to add two complex numbers by overloading + operator.
32. (a) Name the header file required to process data files in C++. (Score : 1)
(b) Explain different file streams. (Scores : 3)

9014 10
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(a) ROM-603 (0aGU0aH®RUB af)9)®))d. (capodav’: 2)

(b) allalwmoeodienss ROM-amadl alvodlacla)s. (capodav’: 2)

Item ag)aM Galdlenss Goqilad Mooy manlaleean allalosmyd D6NE

Data members :
Item no, qty, price
functions :
read data() to read data members

print() to calculate amount and print bill.

[Hint : Amount=qty*price]

(a) Item ag)am oqy define e1a1Q)d. (capodav’: 3)

(b) Y HOW Dalcwoudla] item ailolEEBB @MBang Oa1Q  enile] (@ilad

©21Q))QI0M)BB Main program af)9)®)d. (capod : 1)

@’ complex MMIN)®OB add 6alQMN@IM  + operator GoAIRGRINAW EalQ

DalCOUlHN)AN GBI af)PIEND>.
(a) CH+@8 AWoQ aDOENGUB CEIDTVYY ©aIQO3 @RYAINDIAIW HaOWAB anWEe3

Cal® af) 91O, (capod : 1)

(b) aflallw ®eeMenss a0 (Y1203 allvddldCloe)d . (capodav’: 3)
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